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QUESTION 1

Click the Exhibit button. 
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You configured AV and Web filtering for your outgoing Internet connections. You later noticed that not all Web sessions
are being inspected and you start troubleshooting the problem. 
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Referring to the exhibit, what would cause this problem? 

A. The Web session is using QUIC which a not inspected by the FortiGate 

B. These are problem with the connection to the Web filter servers, therefore the Web session cannot be categorized. 

C. The SSL inspection options are not set to inspection 

D. Web filtering is not licensed, therefore no inspection occurs. 

Correct Answer: C 

 

QUESTION 2

Exhibit Your organization has a FortrGate cluster that is connected to two independent ISPs. You must configure the
FortiGate failover for a single ISP failure to occur without disruption. 

Referring to the exhibit, which two FortiGate BGP features would be used to accomplish this task\\' (Choose two.) 
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A. Enable BFD 

B. Enable EBGP multipath 

C. Enable graceful restart 

D. Enable synchronization 

Correct Answer: AC 

 

QUESTION 3

Exhibit The exhibit shows a topology where a FortiGate is two VDOMS, root and vd-vlasn. The root VDCM provides
SSL-VPN access, where the users authenticated by a FortiAuthenticatator. The vd-lan VDOM provids internal access to
a Web server. For the remote users to access the internal web server, there are a few requirements, which are shown
below. 

--At traffic must come from the SSI-VPN 

--The vd-lan VDOM only allows authenticated traffic to the Web server. 

-- Users must only authenticate once, using the SSL-VPN portal. 

-- SSL-VPN uses RADIUS-based authentication. 

referring to the exhibit, and the requirement describe above, which two statements are true? 

(Choose two.) 

A. vd-lan authentication messages from root using FSSO. 

B. vd-lan connects to Fort authenticator as a regular FSSO client. 

C. root is configured for FSSO while vd-lan is configuration for RSSO. 

D. root sends "RADIUS Accounting Messages" to FortiAuthenticator. 
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Correct Answer: BD 

 

QUESTION 4

Click the Exhibit button. 

Your company has two data centers (DC) connected using a Layer 3 network. Servers in farm A need to connect to
servers in farm B as though they all were in the same Layer 2 segment. What would be configured on the FortiGates on
each DC to allow such connectivity? 

A. Create an IPsec tunnel with transport mode encapsulation. 

B. Create an IPsec tunnel with Mode encapsulation. 

C. Create an IPsec tunnel with VXLAN encapsulation. 

D. Create an IPsec tunnel with VLAN encapsulation. 

Correct Answer: C 

 

QUESTION 5

FortiMail configured with the protected domain "internal lab". 

Which two envelopes addresses will need an access control rule to relay e-mail sent for unauthenticated users?
(Choose two.) 

A. MAIL FROM: traming@fortinet com: RCPT TO: student@fortmet com 
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B. MAIL FROM student@fortinet com: RCPT TO student@internal.lab 

C. MAIL FROM: trainmg@internallab; RCPT TO student@mternallab 

D. MAIL FROM student@internal lab: RCPT TO student@fortmet.com 

Correct Answer: BC 
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